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MODEL QUESTION PAPER (TERM - 2)
CLASS - +2
SUBJECT - ACCOUNTANCY

Time : 3 hours M.M. : 50

W (General) FE9T :-

1. |t ygT a7
All Question are compulsory.

2. U9 UF T UEET U9 20 SEITeheurd Wl Rl SIS & |
Tigefl 1 feu o faskeut ® @ foredt W&t faemew &t
3 I oh ® | A& |
Question no 1. of the question paper consits 20
mutiple choice questions. Candidate are required

to choose any correct choice to give their answer
from the given choice of answers.

3. 37k O weHl o HuM eifera ferw o ¥

Markes alloted to each questions are indicated

against it.
1. G2 faeheg T :
(i) stwenfaai <61 e S ©
(@) == (b) e
(c) =y (d) S asft

(iii)

Shareholder’s get

(@) Interset  (b) Dividend

(c) Profit (d) All of the above
sl W Aferenam Hifee foran s 9ear §
(@ 5% (b) 10%

() 15% (d) I dr &

Maximum Limit of securities Premium on
share is :

@ 5% (b) 10%

) 15% (d) No Limit

S&d 39 o YA: TR o 918 39 ueRa @ &
I e&diarid fepan < §

(@) ST == (b) WEE HeE

(c) dfeadst (d) SWied ¥ aig T

The balance of ‘Share Forfeiture A/c’ after the
reissue of for feited share is transferred to:

a) Capital Reserve
b) General Reserve
c

d

(
(
(c) Reserve Capital
(d)

None of the above
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(iv) Twar SToer 2 € (vii) afterefier Fomes St S Tk §
(@) TR (b) =T (@) Te H
(c) ol (d) wmEH (b) ish we U Hw H
Equity Shareholders are : (c) e famt
(@) Creditor (b)  Directors (d) T
() Owner (d)  Customers

Convertible debentur can be converted into

(V) TS AT R difcishl TF o TTHR S0 i ST Bl (@ Cash
@) 5% by 10% (b) Shares and new Debentures
) 6% @) 12% (c) Bill Receivable
Interest on calls in advance according ‘Table _
F’ will be (d) Promissory note
@ 5% b)  10% (viii) SO A F EA T
(©) 6% d)  12% (@) TTRR (b) e

(vi) o wefda e B (c) v=H (d)  smgfciepat
(@) <= TErYy 1 R Debentureholder’s are the ............. of the
(o) fweREl s fafEm company
(c) H=mdl gN SHREH (@) Creditors (b) owners
(d) = & wE T (c) customers (d)  Supplier
Debentures represent (ix) oMUl ST S TR ST wehdr €
(@) Long term Loans (@) & A9 HOMgEl w1 I R
(b) Investment by shareholders (b) wfaa i ¥ 9
(c) contribution by directors (c) M % fau fre T stEeE @
(d)  None of the above (d) ST = F
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Debentures can be redeemed out of

(@) By issuing new shares/debentures
(b)  Accumulated profits

(c) Provision made for redumption

(d) All of the above

(X) T HOMTE % TE e ol ol §

(@) TN oy (c)  YSIvd ey

(c) =Mk oy (d) Hdred oy
Profit on cancellation of own debentures is
(@) Revenue Profit (b) Capital Profit
(c) Trading Profit (d) Operating Profit

(xi) o1 TEAT STI §

(a) W ST (b) R S
(c) Ny &Har Aqu(d)  Teramefierar srurE
Debt Equity Ratio is

(@) Liquidity Ratio (b) Profitability Ratio
() Solvency Ratio (d) Acitivity Ratio

(xii) =afg =me] 3T 211 3R =] <Ifae &, 15,000 ¥

<1e] TeafaEt 1 ged fehan g
(@) 20,000 (b) 40,000
(c) 15,000 (d) 30,000

If the current Ratio 2:1 and the value of current
liabilities is Rs 15,000 Than what will be the
value of current assets

(@) 20,000 (b) 40,000
() 15,000 (d) 30,000

(xiii) =1 & & Tt 31ama <1 wfawa o = foha S ©

(a) Toramfiaar sTu (b)  SireHe™a
(C) Y Hedl g (d)  TeAd AT

Which of the following ratios are express in
percentage

(a) Activity Ratio
(b) Solvency Ratio
(c) Profitability Ratio

(d) Liquidty

(xiv) et R 3T TR BIaT ©
(@ 1:2 (b) 2:1
(c) 41 (d 1:1
What is ideal Liquid Ratio
(@ 1:2 (b) 2:1
(c) 4:1 (d) 1:1
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(xv) Herernt i fdre fofm @ o a&gd it S ® (xvii) 31 faeRo ¥ wnfhet g €

(@) USRI T W H (a) =R @

(b) e H | (b) s =T @

(c) iR e @ (c) - =i fFreirs @

(d) et g (d) SR @

In which meeting is the directors report Income statement include

presented: (@) Trading A/c

(@) Meeting of Managers (b) Profit and loss A/c

(b)  Meeting of Directors (c) Profit and Loss Appropriation A/C

(c) Annual General Meeting (d)  All of the above

(d) Statutory Meeting (xviii) F7=1 & & = fafqa fazeron 1 oo 721 €
(xvi) Tfa =t feafq faawo & fh it & eia g (@) ke yarE faem

ST - . ‘ (b) ek fafaa foero

(@) womh Tl (b) e wEE (c) = varE faramor

(c) H=a T WA (d) fafm (d)  FErei = f

Goodwill is shown under which heading of

Which of the following is not the tools of
balance sheet.

financial analysis

Fi A
(@) Fixed Assets (a) Cash Flow Statement

b) Current Assets . : .
) b) Compartive Financial Statement

(
() Reserve and Surplus
(

(
(¢) Fund Flow Statement
d) Investment d

d) Employee’s Statement
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(xix) Foot rfufem &1 e G o e & sify
WAl ! A A © |
(@) &m’-129 (b) & 133
(c) wmi214 (d) =m216
Which section of companies Act explain the
final accounts of the company
(@ Section 129 (b) Section 133
() Section 214 (d) Section 216

(xx) T AT 6 faska st T €. 5,00,000 fospa =t
A F. 3,00,000 T ST S F. 50,000 ¥ | THA
@yt Al fohat grft
(@) ¥.1,50,000 (b) ¥.2,50,000
(c) ¥.2,00,000 (d) %.3,00,000
The sale of a company is Rs 5,00,000 cost of
sale Rs 3,00,000 and the indirect expenses

are Rs 50,000 .What will be the amount of
gross profit

(@) Rs1,50,000 (b) Rs 2,50,000
(c) Rs2,00,000 (d) Rs 3,00,000

2. IAqH HAMSH F © ? 2

What is Minimum Subsaition ?

3. S fetree dive %1 Bid &2 2

What is meant by Deep Discount Bond

4.

=1 wEi 1 U wAy o frafa faaror # o9 fo oident
& ST fem@mia 2
(a) wnfa (b) Bie 3R

(c) difayfd wifq=d  (d) ok R0

Under What heading will you shown the following
items in the balance sheet of a company

(@) Goodwill

(b) Loose Tools

(c) Securities Premium Reserve

(d) Mortgage Loan

Jerreqes fafaar faewor § 9 o= 99ea € 2 2
What do you mean by compartive statement?

Ifg =Ie] AU 5:2 HEvA YSt ®. 81,000 ¥ ° =
Gl qe <Te] ST i TUAT HifeT | 2
If current Ratio 5:2, working capital Rs 81,000 then
calculate the amount of currrent Assets and current
Liablities

RIS o e ) fafi= fafke =t dfera saren sifsa
Explain in brief the various methods for redumption
of Debentures 2

qaifererR e & fohdl T R i1 oo IS

Explain any three types of Perference Shares. 2
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fafqa foaworn & faveioor & Segal &l ouiF shifsw| 3

Describe the objectives of Analysis of Financial
Statement

oI 3T W1 1 AT €. 2,00,000 The¥ e ST 8
TN & | IRfrereR Tefan stf<m i o6t 1.5 7o € | IRt
9 31f<m wiad &t 701 sHifs | 3

Rs 2,00,000 is the cost of goods sold, Inventory
Turnover Ratio is 8 times. Stock at the beginning
is 1.5 times than closing stock. Calculate the
values of opening and closing stock.

T fafiee 7 %, 50 A1l 10,00,000 10% komas it
R fSieRT WeMA 3 99 & 9e=d ®. 20 oTcl §HT S
g g foman S | Seomas & fie 9 ses geeedt
yfafteai i | 4
Ganga Ltd. issued 10,00,000 10% debentures of
Rs 50 each redeemable after 3 years by converting
the into equity shares of Rs 20 each. Record

necessary journal entires for issue and redumption
of debentures.

Or 37erem
TG & STl hi TS Shifeg

Describe the advantages of debentures

12. efefa fafaes 3 ®.10 9t 1,000 3791 a1 1 ®. 2 9fd

si9 Hiffem R frifha fed | & 3 €. 3 9fa sfw efeA
R A F. 5 (Fifag @ifea) eaeied R g i3 g §.2
| Al W R T, AfTH A W AR g arei |
GaTeTeh! A 3Gk 3191 Rl 01 R foran e I9 i ®. 8 Ui
3791 qui gendl < feama 9 q4: Frifaa o foan sxo 9 4.
ot & fere Isrmn wfaftesr wifsw

Aditi Ltd. issued 1,000 Shares of Rs 10 each to
Reeta at a premium of Rs 2 per share. Reeta had
paid Rs 3 on application Rs 5 (including premium)
on allotment but could not pay Rs 2 on first call
and Rs 2 on final call. The directors forfeited her
shares and reissued to Ram as Rs 8 for fully paid.

Pass Journal entires for for forfeiture and reissue
of shares. 4
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